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QUESTION 1

A cloud administrator is establishing connectivity between their on-premises data center and VMware Cloud. The
Administrator wants to leverage Border gateway Protocol (BGP) to Dynamically learn when new networks are created.
Which type of VPN should the administrator configure to accomplish this? 

A. Layer 2 VPN 

B. SSL VPN 

C. Policy-based IPSec VPN 

D. Route-based IPSec VPN 

Correct Answer: D 

Route-based IPSec VPNs provide the flexibility to dynamically learn when new networks are created, making them the
ideal choice for establishing connectivity between an on- premises data center and VMware Cloud. Route-based IPSec
VPNs use the Border Gateway Protocol (BGP) todynamically learn and propagate routes over the VPN tunnel, allowing
for scalable and secure connectivity. [1] [1]https://docs.vmware.com/en/VMware-Cloud-on-
AWS/services/com.vmware.vmc-aws.networking/GUID-EDA5A6E5-6C5B-4F66-9C2F-2C6D4F6EF8F6.html 

 

QUESTION 2

Which two statements depict the VMWare Multi-cloud Vision? (Choose two) 

A. Deliver a consistent management and operations layer across any cloud 

B. Run the workloads in the cloud to eliminate security issues. 

C. Standardize at the DevSecOps and infrastructure level. 

D. Reduce the number of developers to increase productivity 

E. Modernize applications in the cloud of choice using the cloud-native services of that cloud provider 

Correct Answer: AE 

VMware Multi-Cloud Vision enables customers to deliver a consistent management and operations layer across any
cloud, and to modernize applications in the cloud of choice using the cloud-native services of that cloud provider. It does
not run workloads in the cloud to eliminate security issues, standardize at the DevSecOps and infrastructure level, or
reduce the number of developers to increase productivity. 

 

QUESTION 3

A cloud administrator is planning to migrate 1,000 VMs from their existing on-premises location into VMware Cloud on
AWS. The migration will need to be completed as quickly as possible. Upon completion, the users will need the most
reliable, lowest latency connection possible. 

Which on-premises data center connectivity option will meet these requirements? 
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A. Layer 2 VPN 

B. AWS Direct Connect 

C. VMware Transit Connect 

D. IPsec VPN 

Correct Answer: B 

The best option to meet the requirements of quickly migrating 1,000 VMs with the lowest latency and most reliable
connection possible is to use AWS Direct Connect. AWS Direct Connect provides a dedicated network connection
between an on- premises data center and the Amazon Web Services (AWS) cloud, allowing for the transfer of data
across the two locations. It is more reliable and has lower latency than other options such as Layer 2 VPN, VMware
Transit Connect, and IPsec VPN. Additionally, AWS Direct Connect provides the highest performance and throughput of
any of the on-premises data center connectivity options. Why does VMware refuse to educate their customers ... -
VMware ... https://communities.vmware.com/t5/VMware-Education-Services/Why-does-VMware-refuse-to-educate-their-
customers/td-p/2005973 

VMware Technical Support Guide https://www.vmware.com/pdf/techsupportguide.pdf 

Publishing Applications with VMware Horizon 7 https://vcdx.vmware.com/content/dam/digitalmarketing/vmware/ru/pdf/te
chpaper/vmware-horizon-7-application-publishing.pdf 

 

QUESTION 4

A cloud administrator needs to configure a VM storage policy for virtual machines that will host a business critical
application. The environment consists of a single cluster with six hosts. The application is storage I/O intensive and
redundancy must be provided at the highest level possible. 

Which VM storage policy settings should the administrator configure to meet these requirements? 

A. RAID-1 FTT = 3 

B. RAID-1 FTT = 2 

C. RAID-5 

D. RAID-6 

Correct Answer: B 

RAID-1 is a mirror configuration that provides high availability by creating multiple copies of a VMDK. RAID-5 and
RAID-6 are erasure coding configurations that provide fault tolerance by distributing data and parity across multiple
hosts. The 

number of failures to tolerate (FTT) determines how many copies or parity blocks are created for each VMDK. For
example, RAID-1 FTT = 2 means that there are three copies of each VMDK. 

Therefore, based on your requirements, a possible VM storage policy setting could be RAID-1 FTT = 2, which would
provide redundancy at the highest level possible with six hosts. 

https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vsphere.vmc-aws-manage-data-center-
vms.doc/GUID-EDBB551B-51B0-421B-9C44-6ECB66ED660B.html 

2V0-33.22 VCE Dumps | 2V0-33.22 Practice Test | 2V0-33.22 Braindumps                                3 / 4

https://www.passapply.com/2v0-33-22.html
https://www.passapply.com/2v0-33-22.html
https://www.passapply.com/2v0-33-22.html


https://www.passapply.com/2v0-33-22.html
2024 Latest passapply 2V0-33.22 PDF and VCE dumps Download

 

QUESTION 5

A cloud administrator needs to extend a network and requires that routing be handled at the source. 

Which network segment type does VMware HCX Network Extension create in the VMware Cloud software-defined data
center (SDDC) when extending the network? 

A. Extended 

B. Routed 

C. Private 

D. Disconnected 

Correct Answer: B 

https://docs.vmware.com/en/VMware-Validated-Design/services/sddc-extending-to-vmware-cloud-on-aws/GUID-
EDF0E8DB-2195-4EC2-9CE8- 1BF51C5173A5.html https://docs.vmware.com/en/VMware-HCX/4.5/hcx-user-
guide/GUID-4052AC3F-9FFC-4FA2-ACB4-18B21962F4D3.html 

VMware HCX Network Extension creates a routed network segment type in the VMware Cloud software-defined data
center (SDDC) when extending the network. This routed segment is used to connect the on-premises environment with
the VMware Cloud SDDC, allowing traffic to flow between the two. The other options (extended, private, and
disconnected segments) are not created by Network Extension. 
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